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βP = 37,5°

ra = 308,0

U'
S

L'

U=U5

Anlauflänge: e1 = 124,3 m

Anlauflänge: e2 = 80,3 m

E1

Kubische Parabel

α = 11,0° (11,5°)

Flugkurve

FIS-Jump-2: Version 2.0

 = 11°;  = 35°

t = 8,0 m; r1 = 100 m

Wind: 3; t = 0,05

rL = 484.0
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r2L = r2a = 125,0
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es = 44,0 m

γ = 35,00°

E'1

SCHANZENPROFIL

8

Anlauf: 
v0    30,0 m/s
e1  124,3 m
e2    80,3 m 
es    44,0 m 
t        8,0 m
s       4,5 m
γ     35,0° 
α     11,0° (11,5°) 
r1    140 m/100,0 m (E1/E2)

Aufsprung: 
HS   225 m 
w     200 m 
hK    102,99 m
nK    170,89 m 
hp      83,37 m
nP    143,39 m 
zU    135,00 m 
l1      33,79 m 
l2      25,00 m 
l       58,79 m
ßP    37,50°
ßK    33,50°
ßL    30,54°
rL    484,0 m
r2    Gerade/Parabel r2L =     ; r2 = 110 m
b1      3,00 m
b2      8,00 m
bK    36,00 m
bU    40,00 m
a     130 m 
d     122,0 m
q       25,0 m FM
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H/B = 470 / 841 (0.40m²) Allplan 2013


